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Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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and piece wage system.

Describe the procedure for issue of material from

store.

Write the main functions of purchase department?

that affect plant layout.

OR

OR

8.

6

6

9.
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

NT5045NT5045

Which is an important step in purchasing

procedure.

(a) Requisition

(b) Receiving 

(c) Inspection

(d) All the above

The oldest and simplest method of wage 

payment is:

(a) Time wage system

(b) Piece wage system

(c) Contract wage system

(d) None of these

Define the following:

(a) Wage

(b) Real wages

(c) Wage incentive

OR

Answer all Five Questions. 

Explain the main techniques of inventory 
control?

7.
6

6 x 5 = 30
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(iii)

(iii)

(iv)

(ii)

Which is the principle of store keeping:

(a) Principle of systematic arrangement

(b) Principle of systematic issue

(c) Principle fo inventory control

(d) All the above

The maximum number of partners in a  firm

has been specified by:

(a)  Indian partnership Act

(b)  Indian companies Act

(c)  Indian contract Act

(d)  None of these

NT5045 NT5045

Write four importance of Production  planning & 

control?

incentive?

OR

5.
4

6.

4
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(v)

(v)

(vi)

(iv)

Corporate governance does not include one 
of the following items: 
(a) Constitution of board of director
(b) Disclosure of information
(c) Management practice
(d) Technological changes in the 
     organization.

The minimum wages Act came into force
from:
(a) 9th Feb. 1948
(b) 15th March 1948
(c) 1st April 1948
(d) 1st Jan. 1950

                                   OR

4

4.
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OR

Write three differences between business and

profession?

Write five characteristic of public enterprises?
4                     

3.
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Which is the example of extraction industry:

(a) Coal, Iron, copper  industry

(b) Textile, sugar, paper etc industry

(c) Garment industry

(d) None of these

Basic elements for sucess in business is:

(a) Well defined objective

(b) Proper objective

(c) Adequate finance

(d) All the above

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4

4 x 5 = 20

Explain variable cost along with examples.

(xx)
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Choose the most suitable answer of owners 

of Public enterprises: 

(a) Govt

(b) Labour

(c) Management

(d) None of these

In commercial language one who takes loan

is:

(a) Donator 

(b) Debtor

(c) Creditors                                                                                                                                                                                                                  

(d) Loan taker

In which form of business there is direct 

relationship between efforts and rewards:

(a) Partnership

(b) Cooperative societies

(c)  Sole partnership

(d) Joint stock company

The director of the company can not be:

(a) Insolvent

(b) Criminal

(c) Mental

(d) All of the above

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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Which one of the following is the active

factor of production:

(a) Land

(b) Labour

(c) Capital

(d) Organization

In piece wage systems quality may be:

(a) Inferior

(b) Superior

(c) Outstanding

(d) None of these

First in the first out and last in last out are
the methods of:
(a) Inventory evaluation
(b) Production
(c) Store keeping
(d) Purchasing

Business organization should be fully 
concerned with social responsibility 
because they:
(a) Can make huge profit 
(b) Are more efficient 
(c) Are the part of the society
(d) Can compete in better way

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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The starting point of all business activity is:

(a) Shopping

(b) Product

(c) Transporting

(d) Evaluation

Top administrative organ of the company:

(a) Share holders

(b) Managing directors

(c) Board of directors

(d) General manager

Essential elements of a company is :

(a) Unlimited liability

(b) Utmost good faith

(c) Artificial legal person

(d) No separate identity

The minimum subscription is to be received

in how many days?

(a) 60 days

(b) 90 days

(c) 120 days

(d) 150 days

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)
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Discuss the various objectives of store keeping.

Explain different steps in production planning &

control?

OR

OR

10.

6

P.T.O

Discuss the various objectives of store keeping.

Explain different steps in production planning &

control?

OR

OR

10.

6

17 NT5045
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Explain preparation of a simple cast sheet? 11.

OR

6

Explain preparation of a simple cast sheet? 11.

OR

6

***
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